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	1 + 0,5 =
	
	15 + 0,7 =
	
	

	5 + 0,4 =
	
	66 + 0,8 =
	
	

	8 + 0,1 =
	
	78 + 0,1 =
	
	

	9 + 0,2 =
	
	61 + 0,5 =
	
	


	0,9 + 0,5 =
	
	0,7 + 0,5 =
	
	

	0,4 + 0,4 =
	
	0,4 + 0,6 =
	
	

	0,2 + 0,7 =
	
	0,1 + 0,2 =
	
	

	0,3 + 0,9 =
	
	0,5 + 0,3 =
	
	


	4,4 + 0,5 =
	
	9,8 + 0,4 =
	
	

	7,7 + 0,4 =
	
	5,4 + 0,1 =
	
	

	8,2 + 0,3 =
	
	2,2 + 0,5 =
	
	

	3,1 + 0,2 =
	
	1,3 + 0,9 =
	
	


	8,4 + 1,4 =
	
	9,1 + 4,4 =
	
	

	4,7 + 2,7 =
	
	7,4 + 1,5 =
	
	

	5,5 + 4,1 =
	
	5,8 + 2,6 =
	
	

	6,1 + 6,2 =
	
	1,6 + 4,9 =
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	1 + 0,54 =
	
	12 + 0,04 =
	
	

	4 + 0,04 =
	
	84 + 0,87 =
	
	

	8 + 0,63 =
	
	63 + 0,66 =
	
	

	9 + 0,87 =
	
	94 + 0,48 =
	
	


	0,06 + 0,75 =
	
	0,35 + 0,08 =
	
	

	0,85 + 0,03 =
	
	0,24 + 0,75 =
	
	

	0,13 + 0,61 =
	
	0,14 + 0,63 =
	
	

	0,42 + 0,14 =
	
	0,62 + 0,37 =
	
	


	2,04 + 0,74 =
	
	4,75 + 0,51 =
	
	

	4,15 + 0,15 =
	
	5,03 + 0,62 =
	
	

	1,94 + 0,02 =
	
	1,44 + 0,84 =
	
	

	3,32 + 0,63 =
	
	2,21 + 0,06 =
	
	


	4,55 + 5,08 =
	
	4,98 + 2,61 =
	
	

	5,74 + 1,42 =
	
	1,45 + 4,04 =
	
	

	1,06 + 4,77 =
	
	6,03 + 7,16 =
	
	

	2,95 + 6,68 =
	
	2,21 + 8,84 =
	
	



	1 + 0,521 =
	
	8 + 0,845 =
	
	

	4 + 0,052 =
	
	7 + 0,951 =
	
	

	5 + 0,632 =
	
	4 + 0,247 =
	
	

	6 + 0,006 =
	
	5 + 0,775 =
	
	


	0,025 + 0,751 =
	
	0,005 + 0,753 =
	
	

	0,632 + 0,449 =
	
	0,147 + 0,004 =
	
	

	0,158 + 0,005 =
	
	0,963 + 0,859 =
	
	

	0,005 + 0,426 =
	
	0,852 + 0,965 =
	
	


	4,745 + 0,504 =
	
	4,759 + 0,007 =
	
	

	5,004 + 0,751 =
	
	2,486 + 0,784 =
	
	

	1,145 + 0,265 =
	
	3,105 + 0,115 =
	
	

	6,206 + 0,005 =
	
	5,634 + 0,636 =
	
	


	4,005 + 8,452 =
	
	4,704 + 1,845 =
	
	

	5,245 + 9,602 =
	
	5,011 + 9,632 =
	
	

	2,951 + 1,453 =
	
	2,458 + 7,451 =
	
	

	1,632 + 6,846 =
	
	3,459 + 4,005 =
	
	


